Multiple - Choice Questions

1] The digit which has the greatest place value in
69,83,825 is

2] The face value of 2in 12645 is

(@) 2000 (b)200 ()20 (d)?2

3] 3,00,000 +6,000+70 +5isequal to

(@) 3,06,075 (b) 3,06,750 (c) 3,60,705
(d) 3,06,705

4] The predecessor of the greatest 4-digit number
IS

(@) 9999 (b)1001 (c) 9998 (d) 10001
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5] The Hindu - Arabic notation for XCVI is

(a) 96 (b)106 (c)86 (d) none

6] In all, the Roman numeration system uses

symbols.

7] In the Roman numeration, we cannot write
(@) 1 (b)55 (c)O0  (d) 255

8] The difference between the place values of the
two 8sin 69,84,93,085 is

(@) 799920 (b) 899920 (c) 7999920 (d) 7998920

9] One crore is equal to

(@) 1 million (b) 10 million (c) 100 million
(d) none
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10] When 5,67,815 is rounded off to the nearest
thousand, we get

(@) 5,67,000 (b)5,67,800 (c)5,68,000
(d) 5,68,800

11] The estimated product of 587 and 83 is equal to

(a) 48,000 (b) 40,000 (c) 54,000 (d) 48,400

12] The estimated quotient for 929 + 29 is equal to

(a) 30 (b) 35 (c) 45 (d) none

13] The Roman numeral for 99 is

(a) CXIX (b) XCXI (c) XCIX (d) none

14] A student multiplied 5.684 by 98 instead of 89.
Her answer was more than the correct
answer .
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(@) 52.156  (b) 51.256 (c) 51.156 (d) none

15] A book of 1,456 pages has 9,95,904 words in it.
The number of words in each page is

(a) 584 (b) 684 (c) 675 (d) 595
ANSWERS
1(a) 2(d) 3(a) 4(c)
5(a) 6(b) 7(c) 8(c)
9(b) 10(c) 11(a) 12(a)
13(c) 14(c) 15(b)
Pn
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